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Which of the following terms does
refer to the correctness and
completeness of the data in a
database?

(A) Data security

(B) Data constraint

(C) Data independence

(D) Data integrity

The operation, denoted
by -, allows us to find tuples that
are in one relation but are not in
another.

(A) Union

(B) Set-difference

(C) Difference

(D) Intersection

Which of the following is used to
denote the selection operation in
relational algebra?

(A) Pi(Greek)

(B) Sigma (Greek)

(C) Lambda (Greek)

(D) Omega (Greek)

For a weak entity set to be
meaningful, it must be associated
with another entity set, called the:
(A) Identifying set

(B) Owner set

(C) Neighbor set

(D) Strong entity set

fr=fRed & 9 o9 A1 7 STy H
STl I Ygam 3R quidr ol Hahfa @l
2?
(A) ST e
(B) ST & &4
(C) < ol
(D) STl 3rgsdl

e, f9—gRT o
G 8, B9 9 U @l Wlo Bl
AN <1 © O Ud | H g olfdA
T H T B |
(A) w°
(B) Wc—3R
(C) AR
(D) SR
frferRad § & foder TN Adawe
IO & =9 dfshar @1 efid B
& forg fopar e &°
A) 7% (i)
(B) fam (i)
(C) el (i)
(D) 3 (i)
U6 FHOIR 301 @ i BF & forg,
BRI i e Tl s | B | S
ST A1fRY, oy T e &
(A) Identifying set
(B) Owner set

(C) Neighbor set
(D) Strong entity set
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An entity in A is associated with at
most one entity in B, and an entity
in B is associated with at most one
entity in A. This is called as:

(A) One-to-many

(B) One-to-one

(C) Many-to many

(D) Many-to-one

Which of the following can be a
multivalued attribute?

(A) Phone number

(B) Name

(C) Date of birth

(D) All of the mentioned

The attribute AGE is calculated
from DATE OF BIRTH. The
attribute AGE is:

(A) Single valued

(B) Multi valued

(C) Composite

(D) Derived

Entityisa .

(A) Object of a relation

(B) Present working model

(C) Thing in real world

(D) Model of relation

If a transaction has obtained a
lock, it can both read and

write on the item.

(A) Shared mode

(B) Exclusive mode

(C) Read only mode

(D) Write only mode

fde¥aT AGE @ M1 DATE OF
BIRTH ¥ @ ol 2| fa9war AGE &:
(A) Udbel Heudrd

(B) 9§ Hedar

(©) I

(D) g

WEUE g

(A) @ R @1 7%

(B) M B Hied

(C) IRafd® g H 9

(D) WEY BT died

IR PR =T e oUW
far g, @ 98 JMEeA W g 3R for@
FHT 2 |

INEEIRS

(B) fao Are

(C) IS WIS

(D) < HS
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10. If a transaction is performed in a 10. I P ofed Seed # fdam orar 8
database and committed, the 3R ufddg 2iar € a1 aRade oFed @l
changes are taken to the previous frod) Rafy § o o/ o &
state of transaction by: A) e
(A) Flashback
(B) Rollback ®) W
(C) Both (A) and (B) (© T (A) 3R (B)

(D) Cannot be done (D) 7Tl febar i el

11.  The size of locks is called: 11. o @ AER B $ed &
(A) Lock granularity (A) df® ﬁ:ﬂaﬁa
(B) Implicit locks (B) FRa o
(C) Explicit locks ©) e de
(D) Shared locks .

(D) TSl ol

12.  Which of the following locks the  12. fA=foiRad & & &9 3Mged & gRadH
item from change but not from A hdl 8 olfh ggd d a1
read? (A) PRa o
(A) Implicit locks B) e F
(B) Explicit locks .

(C) Shared locks (©) W=t FH:CR?
(D) Exclusive locks (D) & el
13.  Locks placed by commands are: 13.  ayeen SRT U U e &
(A) Implicit locks (A) ffga dfed
(B) Explicit locks (B) VI e
(C) Shared locks () N d
(D) Exclusive locks .
(D) 3T 19
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14.  Which of the following is a type of ~ 14. f=faiRgd § & @9 6 YSR &
functional dependency? FrITcTp Fpivar 27
A) Trivial Functional
) (A) T PR e
Dependency
(B) Non-trivial Functional (B) -7 PR fHre
Dependency © HE| (A) 3R (B)
(C) Both (A) and (B) (D) SR § F B T8
(D) None of the above
15. Functional dependencies  are 15. oRid fhiRar @ 98 e E3
classified as on the left. w7 a-,ﬁw frar T B
A) Dependent
(A) Dep | A) o
(B) Determined
(C) Determinants (B) iR
(D) Database (©) feRa®
(D) Serdd
16.  Which of the following operation 16. ffoRed & 4 @9 &1 offReE Th
form a schedule? W T 2?
(A) Read
: (A) e
(B) Write
(C) Commit (B) fere
(D) All of these (C) Yfdeg
(D) T A Wi
17. The essential requirement of  17. Rl 1 s Lo B e
normal form is that every ARl I 2 5 ddy ¥ IS
determinant in the relation must be :
_ feiR® Ue IHIGaR goll BT AR |
a candidate key.
(A) Boyce Codd (A) S BIS
(B) Fourth (B) der
D) Third
D) D)
Series-D B.Sc. - B070201T / K-257 Page - 6



18.  Which of these keywords is used ~ 18. URUFHl Hdg ¥ geiide U Bl TH
to eliminate duplicate tuples from ™A B fou g U b9 dEs @1
the resultant relation? SUANT fbaT T 27
(A) DELETE (A) DELETE
(B) DISTINCT (8) DISTINCT
(C) NON DUPLICATE (C) NON DUPLICATE
(D) EXISTS (D) EXISTS
19.  Which of these operator selects 19. 3T ¥ @M HI 3R deg & I
value that match any value in a AT g o fadr feu aal fore ¥ o)
given list of values? ) aﬁl J Aol @ ¥
(A) BETWEEN (A) BETWEEN
(B) LIKE (B) LIKE
(C) IN (©) IN
(D) None of these (D) T QIR T
20. The type of data structure that is  20. Udh Rel¥Mc Hed § SWIRT & o
used in a relational model is : qrell S Gl Bl YPKR &
(B) Tree B) 2
(C) Graph
(C) U
(D) None of these _ _
(D) T ¥ BIg el
21.  The constraint that can be applied  21. S ¥ $ac Bl TR T SIDN Gl
only at column level is: Fhdl & I8 &
(A) Primary key constraint (A) TR Gofl arn
(B) Foreign key constraint B) Fr gl amn
(C) Unique Constraint ”
. (C) JAfgcg awm
(D) Not null Constraint _
(D) ¥ q®I el
Series-D B.Sc. - B070201T / K-257 Page - 7



22.  Two schedules are known as  22. @ schedule @I - ® BY H S
if they produce same final oar € It 9 STy @ 9aF oifq|
state of the database. Ry ST o |
(A) Serializable A) B e B
(B) Conflict equivalent _
(C) Result equivalent (B) RERRGEE
(D) View equivalent of the (C) RO wemer
mentioned. (D) ScellRad & qHDE <
23. In order to maintain transactional  23. WH-<7 @ IRGedT IR ST H
integrity and database consistency, Rerar 90 W & fort, DBMS foa
what technology does a DBMS qHd BT ST Pl 2?
deploy? A) B
(A) Triggers .
(B) Pointers ®) W
(C) Locks (€) e
(D) Cursors (D) B
24. In case of any shut down during 24. Ufddg 89 ¥ Ugd ofFed & SR fdhull
transaction before commit which W I ST D HES H HEfoRag § 9§
of the following statement is done D G PUE WA Wy ¥ fhar o
automatically? ¥
(A) View ) @
(B) Commit
(C) Rollback (B) Pfic
(D) Flashback (C) WD
(D) TeleTdd
25.  Which of the following makes the  25. fi=folRad § & @9 Scod # oFed
transaction permanent in the D ) 91T 27
database? (A) g
(A) View (B) Bite
(B) Commit
(C) Rollback © Uit
(D) Flashback (D) FRT
Series-D B.Sc. - B070201T / K-257 Page - 8



26, A consists of a sequence  26. Ud H§ @R 3IR/I 3msT
of query and/or update statements. TcHS BT U H BIdT 2|
(A) Transaction (A) o=
(B) Commit (B) @fe
(C) Rollback ©) e
(D) Flashback D) -

27.  In which of the following formats ~ 27. Sco¥ A-ufiic § Se1 & 9 & 9 fog

data is stored in the database BYe § R fhar Siar 87
management system? (A) FCIT)
(A) Image (B) SR
(B) Text ©) g
(C) Table (D) T
(D) Graph

28. In the normal form, a 28 = A ®U 4 Ue w R
composite attribute is converted to ] g foemarn § uRafda faar
individual attributes. T 2 |
(A) First (A) e
(B) Second (B) W
(C) Third ©)

(D) Fourth D) o

29. E-R model uses this symbol to 29. §—3ﬂ'\’ ASd PHVIR scblsc dqe @
represent weak entity set? g o9 & folv 39 Wi @
(A) Dotted rectangle IYINT Pl 2?

(B) Diamond (A) fHER sm@
(C) Doubly outlined rectangle (B) SIS
(D) None of these ©) s .
(D) T ¥ P T
Series-D B.Sc. - B070201T / K-257 Page - 9



30. Relational Calculus is a 30.  Rervrd EI\%FIW Uh I % |
language. NI ERIRIED
(A) Procedural (B) R— uiharTe
E]z; Ef)nl;Plrochural (©) TR
igh-leve
(D) Dag;a definition ®) et R
31.  Select the correct command to find ~ 31.  ®icH H FF1 & G ST PR @ folv
the number of values in a column: e PHIS BT ITT DY
(A) ADD (A) ADD
(B) SUM (B) SUM
(C) TOTAL (C) TOTAL
(D) COUNT (D) COUNT
32.  What is the name of the query that  32. f&fl o= @@ & WHERE
is placed within a WHERE or HAVING el & HiaR Wb T8 d
HAVING clause of another query? IR,
(A) Multi query (A) T VS
(B) Sub query B) 2
(C) Super query
(D) Master query © gR Rl
(D) AR TR
33.  Which of the following SQL  33. fi=foRad & 4 &9 W SQL HHi€ &
command is used for removing (or IYINT sced 9 RelsM @7 8™ (am
deleting) a relation forms the 361%[) & fore fpar or &2
database? (A) s
(A) Drop ®) Rde
(B) Delete
(C) Rollback © Rerd
(D) Remove (D) e
Series-D B.Sc. —B070201T / K-257 Page - 10



34.  Which of the following is not a 34. fi=foRed & 4 o9 & SLTHTA
DML statement? oHe 8T 2?
(A) UPDATE (A) UPDATE
(B) INSERT (B) INSERT
(C) COMMIT (C) COMMIT
(D) DELETE (D) DELETE
35.  Which of the following is not a  35. fi=foRad & I o 3T Wi
DDL statement? Tef 27
(A) ALTER (A) ALTER
(B) CREATE (B) CREATE
(C) DROP (C) DROP
(D) SELECT (D) SELECT
36. What is the RDBMS terminology  36. U@ Ufdd & folt RDBMS Y&dell @l
for a row? 2?
(A) Tuple (A) T
(B) Relation (B) Rervd
(C) Attribute (C) @@1—6
(D) Domain (D) SIEC
37. What is the cardinality of a table  37. 1000 Ufdai 3R 10 Wi drell dTferd
with 1000 rows and 10 columns? B Pl qy 27
(A) 10 (A) 10
(B) 100 (B) 100
(C) 1000 (C) 1000
(D) None of these (D) $H W PIY T
38.  CREATE operation of SQL is a : 38.  SQL @I fave 3R &
(A) Data query language (A) ST TR ¥
(B) Data definition language (B) STr ST AT
(C) Data cont%*ol lat?guage ©) St RygEor w
(D) Data manipulation language D) S ﬁ_’ﬂw —
Series-D B.Sc. - B070201T / K-257 Page - 11



39.  Which of the following keys can  39. fy=ifolRaq & & @9 @@ ?Ig_\rﬁ dTferet #
uniquely identify row in a table? Ufgd @ fafdre ®9 9 Ug= o) Ghdl
(A) Primary key 3
(B) Candidate key A) TR Eg_\rﬁ
(C) Super key _
(D) All of these (B) SR EIgTrﬁ
(© IR F
(D) I |l
40. How many levels are there in  40. Sco9 & 3MfbedR ¥ fohad oad 8
architecture of database? 27
(A) 2 A) 2
B) 3 B) 3
<€ 4 (C) 4
(D) 5 D) 5
41.  Which of the following allows to  41. {FfciRad # & &F <yl @I fafdre wy
uniquely identifying a tuple? I UM Bl a—jrqﬁ <dr 27
(A) Schema (A) ST
(B) Attribute (B) W
(C) Super key _
(D) Domain (© 8w Elg_\rﬁ
(D) S
42.  Primary key can be? 42. IS gl 8 Fhdl §°
(A) NULL (A) NULL
(B) NOT NULL (B) NOT NULL
(C) BOTH NULL and NOT (C) Ml NULL 3R NOT NULL
NULL (D) Refy w frR s &
(D) Depends on situation
Series-D B.Sc. - B070201T / K-257 Page - 12



43. If relation R has m tuples and  43. I 4T R H m UM & 3IR Heg S o
relation S has n tuples, then the n U 2 dl §eg R 3R S W W
result of join on relation R and S & gRuE ¥ ey fba e |
will have up to tuples. (A) m*n
(A) m*n (B) m/n
(B) m/n (C) m*tn
(©) m+n (D) m-n
(D) m-n

44.  Which of the following is the set- 44. fi=folRad & ¥ @ We-3Rics
oriented operation? TGN 27?

(A) Select (A) Aode
(B) Division (B) g
C) Project '
© .J ©)
(D) Difference _
(D) femea

45. Which of these attributes can be 45. 37175[ q A & fumar o TUdh s?b"l?g&
considered as the identifying B & oIt UgaM &I favivdr & vy #
attribute for an entity student? T O e &7
(A) Address (A) T
B) Roll number :
®) - (B) o AR
(C) Marks -

(D) Any of these ©
(D) T 9 35 A

46. The person who has the central 46. Tal 3R Qﬁﬂ‘cﬁgﬁ TIMH W bl
control over data and application =T W= aren afdd g7
program is: A) ST
(A) DBA (B) Red wfere
(B) System Analyst A

) (C) SciHdd TeullgY
(C) Database designer = =
(D) None of these (D) T ¥ I
Series-D B.Sc. —B070201T / K-257 Page - 13



47.  Which of the following deals with ~ 47. fTfaifad # ¥ BN HYRX R Scld™
the physical representation of the @ Wifde yfaRa ¥ g=d 27
database on the computer? (A) FaRF &R
(A) Internal level (B) SRE 7

B) Conceptual level

(B) p © —

(C) External level = 5
(D) None of the these (D) T W 9T

48. A person has a PAN card. This 48. % Ffad & I U9 @IS B 9 Rerfa
relationship is: o fou f=fofed & 9 o9 a1 W&y
(A) One-to-one T 27
(B) One-to-many A) TP
(C) Many-to-many B) - S
(D) Many-to one

(C) T 3D
(D) PE—H-TF

49. In an E-R diagram is 49, TP IR MG H BT ST
used for representing an entity. TUh TPl Pl UL ded & fofv
(A) Square fpaT STaT B
(B) Rectangle (A) SRR

C) Ellipse
© | p B) a
(D) Diamond-shaped box
(C) <dqm
(D) BR & AMHR BT fSar
50. The information about data in a  50. <STHW H ST @ IR § THGHRN P Fal
database is called: STl &
(A) Tera data (A) R e
(B) Meta data (B) Yo o
(C) Hyper data
(C) BREW ST
(D) None of these _ _
(D) T ¥ BIg el
Series-D B.Sc. - B070201T / K-257 Page - 14



51.  Identify the criteria for designing 51.  STINEA & f{f@‘cﬁw ¥ seed feosA
database from the point of view of IR B o0 AHes P UgAH DY
user: (A) T NG T8
(A) No redundancy -
(B) No inapplicable attributes Szz : chrﬂ;ig:_\;ﬁ U
(C) Uniformity in naming & _
definitions of the data items i T
(D) All of the Mentioned (D) T Sl
52.  Which of the following is not a  52. = & ¥ @9 SQL H key Tl &?
key in SQL? (A) TS
(A) Primary (B) froeh
(B) Foreign ©) i
(C) Alternate
(D) Secondary (D) e
53.  Which type of JOIN is used to  53. 39 Ufdcal @I 999 &=+ & forv oo
returns rows that do not have UYhR & Sligd bl SUINT fbar dr &
matching values? R o @Y arel 9 TS By 8
(A) Natural JOIN (A) Natural JOIN
(B) Outer JOIN (B) Outer JOIN
(©) EQULJOIN (C) EQUIJOIN
(D) All of the above D) Gﬂ'ﬁ'ﬁ T
54.  Which of the following is not a  54. {49 # q @9 SQL &He 78l 87
SQL command? (A) Delete
(A) Delete (B) Order By
(B) Order By (C) Select
(C) Select (D) Where
(D) Where
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55.  Which of the following is the full ~ 55. fv=feRad & ¥ &9 1vd. & gof
form of DDL? ®Y 27
(A) Data Definition Language (A) Data Definition Language
(B) Data Derivation Language (B) Data Derivation Language
(C) Dynamic Data Language (C) Dynamic Data Language
(D) Detailed Data Language (D) Detailed Data Language
56. Create table employee (name  56. Create table employee (name
varchar, id integer) varchar, id integer)
What type of statement is this? g fhe TE &l ReHe &7
(A) DML (A) DML
(B) DCL (B) DCL
(C) DDL (C) DDL
(D) None of these (D) T q Pl ol
57. If every not-key attribute 1is 57.  Afe U”AB ﬁ'\’-ﬂf\rﬁ CHECIRYPIEEE ?g_\rﬁ
functionally dependent on the W PAHSG ©7 ¥ R 2 o dey
primary key, then the relation will 21T
be in: (A) 1NF
(A) INF (B) 2 NF
(B) 2NF (C) 3NF
(© 3NF (D) 4 NF
(D) 4 NF
58. What are the desirable properties 58. U$ 3Uged & Ao ToT 1 &
of decomposition? (A) o arn
(A) Partition constraint (B) Pptec ey
(B) Dependency preservation (©) T
(C) Redundancy
(D) Security ®) g
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59. There are two functional 59. WD Eﬂ‘sf IR fI9wamen & THH 9e &
dependencies with the same set of Q1Y T PRICAD R 2
attributes on the left side of the A->BC
arrow: A->B
A->BC This can be combined as
This can be combined as (B) A->B
(A) A->BC (C) B->C
B) A->B (D) vead § B
(C) B->C
(D) None of the mentioned
60. To obtain the structure of an  60. Oracle TIfTHT B TR T FA B
Oracle table, the command to use foU SRINT o & folu His &
Is: (A) e [feraT BT ]
(A) STRUCTURE [Table Name] (B) U [areT T ]
(B) DESCRIBE [Table Name] : :
C) WA $ qUHA B [dlfcidl &
(C) DESCRIBE STRUCTURE © [
[Table Name] il
(D) DESC TABLE [Table Name] (D) TeRoT ST [T T TT]
61. We can use the following three  61. dIfdbd &Y ¥ fAfed RS fARar &1
rules to find logically implied 9o & forv g femfolRad a9 fFemi
functional  dependencies.  This B SYANT IR WHd & FEl @ =4
collection of rules is called: T BT P TS
(A) Axioms :
A) WIRig
(B) Armstrong’s axioms *) SN
(C) Armstrong (B) _ c
(D) Closure (©) 3 i:
(D) FIRR
Series-D B.Sc. —B070201T / K-257 Page - 17



62.  Authentication refers to: 62.  YEONEHRUT Bl Fehd bl &
(A) Method of restricting users to (A) R @@ qgﬂ%[ & fom
access the system S B aReR e @
(B) Controlling access to portions R
of database : :
. | (B) e & ¢ fewdl @ vgd @
(C) Controlling operations on the _
data _ _
(D) All of the above (C) ST R Farer 31 FRBT T
(D) SWI T
63.  Which is stored information about ~ 63. STWW H S& & fIRU & IR H
description of data in the database? SFHR GUeld DI Sl 27
(A) Data files (A) 32T PTEel
(B) Data dictionary (B) ol el
C) Database -
ED;Dt dministrat ©
ata administrator
(D) eI TSMFRgeR
64. Which is the transformation of  64. ﬂﬂﬁ?ﬂ o fif= ¥R @ 9 313?“&[
requests and results between 3N gRUTHT BT WUEARY HiF &7 27
different levels of abstraction? (A) TeiE
A) Evaluati &
(A) Evaluation ®)
(B) Mapping .
_ (C) PUIReR
(C) Compiler _
D) W&y g}
(D) Precompiler D)
65. A data dictionary is a repository  65. e fS®RMY TH Ruiiesr & o
that manages @ Y§e Bedl 2|
(A) Database (A) S
B) M
(B) Memory B
(C) Metadata
(C) #eree
(D) All of these
(D) T Wi
Series-D B.Sc. —B070201T / K-257 Page - 18



66. Grant and revoke is the type of 66. ¥ic 3R Rad HHe & PR T
command: (A) SIITA.
(A) DDL (B) SLTAT.
B) DML
®) (C) SiHiva.
(C) DCL
(D) SR
(D) DQL
67. Secret words or numbers used for 67. SR DI skl ® foru Ygad [« Usq
protection of devices is called: 7 3 e &
(A) Biometric data (A) R E e
(B) Backup (B) SFag
(C) Passwords
: (C) Uwge
(D) Private words
(D) ol o
68.  Data integrity means: 68. ST IRgsdl @ I &
(A) Providing first access to (A) WUfed ST % Ugell Ugd UM
stored data FH
(B) Ensuring correctness and
(B) ¢TI & ggar 3R Rerar gHiad
consistency of data
. aXr
(C) Providing data sharing o
C SIEICAU R HERCAG]
(D) None of the above © ; «
(D) SWIE ¥ ¥ Bs Tl
69. The number of modes in whicha 69. HdAle & W& (NH Td  ofb—od
transaction may request a lock in q—qéﬁqa_ﬁ:ﬂﬁﬁ-a dffe T o o @
multiple-granularity locking is: R PR W] 3
A) T
(A) Two (A) @
B) Three
i ®) @
(C) Five .
(D) Six ©
(D) ®e
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70. is responsible for that  70. e fou PER 2 f%
the database remains in a Rreq f9wedr & dIavc sced Udh
consistent state despite system W Refyy § vgar 2|
failure. ( A) W ﬁel\_rr\’

(A) Storage manager ®) N ——
(B) Transaction manager _

(C) End user (©) o

(D) Sophisticated (D) ARpe

71. What is wused for database 71. S99 ReTT @ foru forger STaRT fohar
security? SITeT 27
(A) Data encryption (A) a7 Ui
(B) View B) T
(C) Finger point L.

(C) frrufEe
(D) All of the above
(D) Wi

72.  Which person is responsible for 72. <ScWW & fov 9wy wofaf™dl @ forw
overall activities for database? D9 G Gfdd Roer 27
(A) Database designer (A) SeRE e
B) Datab lyst S P
EC; a abase ilj ys (B)

Database Administrator
(C) T D
(D) Database manager
(D) STeH HToR

73.  Which is the component of 73. ST\ Y&eH WUl &l TCh BIF AT 87
database management system? (A) T AT
(A) Query Language (B) ST AR
(B) Database Manager © -

(C) File Manager N
D)
(D) All of these
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74.  Which of the following is not a 74. fr=fofaad & 9 o SIAIT @I B
function of DBA? T8
(A) Network maintenance (A) deddd Ty
(B) Routine maintenance ®)
TN EREE
(C) Schema Definition
(C) M gR¥T
(D) Authorisation for data access
(D) ST RN & forv wifdrawr
75.  Which of the following is an 75. f=foRed § & &9 SQL ¥ U6 ¥
aggregate function in SQL? I 2?
(A) Union (A) Union
(B) Like (B) Like
(C) Group By (C) Group By
(D) Max (D) Max
76. In ER model the details of the 76. 3 3R Hed H Il & fawo
entities are hidden from the user. SUINThd] W U1 2idT &1 99 "fshar &l
This process is called: Pl o]
A) Generalization
(A) ) "
(B) Specialization
(B) favrmsd
(C) Abstraction
(C) W
(D) None of these
(D) T ¥ BIg el
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77. Every weak entity set can be 77. UA® HHGIR Hls A gNI FMIRT Th
converted into a strong entity set o Tl o uRafdd fhar S Fadn
by: 3
(A) Using generalization A) AR BT AT T
(B) Adding appropriate attributes
(C) Using aggregation (B) 953 Q@Q@F e
(D) None of the above © ST T
(D) SR & F PIg 81
78.  Which of this operator selects 78. TTH W PN AT AR c}c'q\ Pl I
value that matches any value in a axal & o fedl feu W %@1 fore §
given list of values? B o) ﬁﬁl F N @ 27
(A) BETWEEN (A) BETWEEN
(B) LIKE (B) LIKE
© IN (C) IN
(D) None of these D) =T ¥ B T
79.  E-R modelling technique is a: 79. 3R HESfl o 1@ &
(A) Top-down approach (A) CTII—S&A I
(B) Bottom-up approach (B) dfcH—am g
(C) Left-right approach ©) e vee apid
(D) None of the above : :
(D) SR & F PIg 81
80. Which of the following is the  80. 79 H ¥ DF—T AN ATRIF 87
binary operation? (A) qﬁpﬂ
(A) Union (B) e
(B) Join ©) ISR vreae
(C) Cartesian product
(D) All of these ©) A
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81. The scheme that controls the 81. oF—<od fwfed &x1 & 9 ardid &I
interaction  between executing fEfla o aell S &
transactions is called as HgT T B
(A) Concurrency control scheme (A) et B A
(B) Multiprogramming scheme ®) N S —

(C) Serialization scheme _
(D) Schedule scheme © g ?'E
D)

82. When more than one attribute 82. g Udh T 3rfere ﬁ’%ﬁ‘dﬁ TrIfH ?g_\rﬁ
forms the primary key, the key is g ol DI HEl Sl &
known as: (A) fesh afrﬁ
(A) Foreign key (B) Yoo W
(B) Alternate key ? :

(C) Candidate key © _ ElgTyﬂ
(D) Composite key (D) ¥ Elj\rﬁ

83.  Which of the following operators 83. fHfafed & W @9 A affRex
cannot be used in a sub-query? IU—qN) H IYIE T8l fhar S gahdr
(A) AND 9
(B) < (A) aR
<€) > B) <
D) <> ©) >

(D) <>

84. A transaction that has not been 84. UTd A< WTE@ZB P LGl Sl
completed successfully is called as 2 39 $el ST 2|
— (A) &g omeT
(A) Compensation transaction B) fre S

B) Aborted transaction

ECi Active transaction © W e

(D) Partially committed (D) R w S g e
transaction
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85.  Which ACID property specifies 85. &M i ACID Wufy e ol © &
that once the transaction is Th R oF—cd dNd & 91, fdotoll &I
committed, it’s permanent even in Rorar & Trael § o g8 oy 27
case of power failures? (A) iR
(A) Atomicity P

B) RRCH
(B) Consistency ®)
(C) Isolation (C)  Sefd
(D) Durability (D) T

86. 5 NF is designed to cope with: 86. 5 NF @ 3% fued & fory feumes
(A) Transitive dependency foar T 2
(B) Join dependency (A) gitafa RS
(C) Multi valued dependency (B) i)

(D) None of these N
(C) #ed! dogs feted!
(D) T ¥ BIg el

87. If one attribute 1s determinant of 87. It B GELKII Qﬂ? &1 FuRe & o
second, which in turn is gl W IR @7 uRe & a1 Gdy T8l
determinant of third, then the 21 g
relation cannot be: (A) FE T R
(A) Well-structured |

B U4.Uh.
(B) 1 NF ®)
(C) 2NF (C) 2TAUm.

88.  The database design prevents some 88. TcNd feusH T BRU Ead
data from being stored due ST b7 9Ufed 89 ¥ Uhdl ¢ |
to (A) Deletion fawfe
(A) Deletion anomalies B) % o RrgTR
(B) Insertion anomalies v

: (C) smse fawmfad
(C) Update anomalies S
(D) Selection anomalies (D) =
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89. Which of the following is the 89. fy=faRed ¥ J PF ST & W
structure of the database? 27
(A) Table (A) gt
(B) Schema (B) I
(C) Relation ©) W
(D) None of these D) o P T
90. InSQL, GRANT command isused  90. SQL ¥ GRANT HAIS & YA fobar
to: ST &
(A) Allow user to  access (A) SWINTHA B STO| qF Ugar
databases & Wﬁ 3
(B) Allow user to create (B) SUSHIdl @l SCpERT e
databases Wﬁ s
(C) Grant system privileges, roles © o al ﬂiﬁ'cﬁ[ SN
and object privileges to users _
and roles ﬁjw ' W IR
(D) Choose auditing for specific et e PR T B
SQL Commands (D) faRme  sQL  @His 3 forg
91. A relation that has no partial 91. o9 ddg W a8 3rifdre frRar 78 g,
dependency is in which normal qg 9 w9 H gl &
form: (A) Tgell
(A) First (B) W
(B) Second ©)
(€) Third (D) AT
(D) BCNF
92.  Which database level is closest to ~ 92. &N W Scdd wWR SWNGART &
the users? Y P9 &7
(A) External (A) TR
(B) Internal (B) dfidRe®
(C) Physical ©) Sl
(D) Conceptual D) | .
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93. In tuple relational calculus P1 ®  93. <¢Ud SGHE EI%GI@EIH i Pl ® P2
P2 is equivalent to: TR &
(A) "P1UP2 (A) ~P1UP2
(B) P1UP2 (B) P10UP2
(C) P1UP2 (C) P1UP2
(D) P1U-P2 (D) P1U-P2
94.  In Hierarchical model records are ~ 94.  UGTHAd Hied & Rele 3 UIR
organised as: aRerd fhu &g &
(A) Graph (A) TTH
(B) List (B) ??ﬁ
(C) Links _
(C) fofaw
(D) Tree
(D) &
95.  Which normal form deals with 95 &N W WH U dgqed FoRar 9
multivalued dependency? G 27?
(A) INF (A) 1 TITE
(B) 2 NF
(B) 2 U1.Um.
(C) 3NF
(C) 3 .U,
(D) 4 NF
(D) 4 TAUW.
96.  Which i1s AS clause used for? 96. AS Tl fhdd foru TN fhar ST
(A) Rename 27
(B) Selection (A) ¥ g5
C) Joi
(©) Join (B) R
(D) Projection :
(C) Imfiret &
(D) Sl
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97.  Which of the following is known ~ 97. 7 # ¥ &y J7aq R Foil & &Y
as minimal super key? H ST STy 27
(A) Primary key (A) wIfe Hol
(B) Candidate key (B) 5 s
(C) Foreign key _ )
(© et gof
(D) None of these _ _
(D) T ¥ BIg el
98. Which of the following is a 98. f=fciRad § & &9 DDL &1 &S 87?
command of DDL? (A) Alter
(A) Alter (B) Delete
(B) Delete (C) Create
(C) Create (D) IR T
(D) All of the above
99. For select operation the 99. Joldke IRIA & fou weRee |
appear in the subscript and the foQrs <ar @ &R aTb
argument appears in the R & 9715 PIed § s 3T B
parenthesis after the sigma. (A) Rery ey
A) Predicates, relation .. I
(&) _ _ (B) ¥y, faer
(B) Relation, Predicates . .
(C) Operation, Predicates © o
(D) Relation, Operation (D) 9, Hc
100. Which join condition contains an 100. fba NI dheled  H U FHECI
equality operator: JTINSR BT &
(A) Equijoins INRECER PR
@) o .
atura
C) U b
(D) Left ©
(D) o®
Kdhkkhx
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Note:

DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO

Examinee should enter his / her roll number, subject and Question Booklet
Series correctly in the O.M.R. sheet, the examinee will be responsible for
the error he / she has made.

This Question Booklet contains 100 questions, out of which only 75
Question are to be Answered by the examinee. Every question has 4
options and only one of them is correct. The answer which seems
correct to you, darken that option number in your Answer Booklet

(O.M.R ANSWER SHEET) completely with black or blue ball point

pen. If any examinee will mark more than one answer of a particular
question, then the answer will be marked as wrong.

Every question has same marks. Every question you attempt correctly,
marks will be given according to that.

Every answer should be marked only on Answer Booklet (O.M.R
ANSWER SHEET).Answer marked anywhere else other than the

determined place will not be considered valid.
Please read all the instructions carefully before attempting anything on
Answer Booklet(O.M.R ANSWER SHEET).
After completion of examination, please hand over the O.M.R. SHEET to

the Examiner before leaving the examination room.

There is no negative marking.

On opening the question booklet, first check that all the pages of the
question booklet are printed properly in case there is an issue please ask the

examiner to change the booklet of same series and get another one.
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